| a 1l

Il

I
i

NI

63 _:’_i.:Lu.il£uL"ﬂ‘(};,gnI/,,J_:mfung_‘.rﬁb’dlr31-'/ 23009042
! K : \ Voo ‘:
Q. No. 2 (i) : {3
3
Q. No. 2 (ii) NUMERICAL . R s
= = s ‘&_1 i = L o
Data. q,°Sxl0""c q_ ="3xl0°C XY= A4 b =]
o T q‘ v
Az lbem =0 (6w iy
l; '-(-%XID (&) +'
.M let Phe potst whre V-0 X (Cxlo3C)
b Uad-PAucloq: V,’kq‘ {:’-‘%
V ot P dwe L“‘L V, = kq“;/r Sy = fx
—x —~ :
wl’r‘-yl-o cmu V. ty=0 i=-§-¥ 2%-?(0% = 0 1Dm
k;" + qu_ =0 %= O-lm = 10cm
\L(qql-"} I(’qLS =0 A-n= O l6-0°1=.0-06m= 6am
2t -0 ‘
L —.C_‘_'%- tPesuH AL 40 um Fom q, owgd
X = TG b hov. . [ r_lpal-a._k;.l' N 2ero,
= q.




i Ji
0 N1 T
| T
[= &ﬁ I| The relevant question should be answered only in the allotted space and inside the outer mark 230b§042
|
Q. No. 2 (iii) PoTéN TIAL DIVID

A poleahc dividey pm'd-v: onvinient  roy Bi qahww\ vaaiable pol-euh’«‘
JFCMQJ &rovn Rucd polenhal diflersnes.
hehe help ’ ol bolleny potenha) V 0 oppled ociew: wm(\ﬂ LAI
and M»s&-««u 9\[HQMQJLMUJW\MJ W afv | | o‘——-—jga,"—-""
| I Ve | Ve b
B, 0 mrslena o{ prkon Bl of wire ond T | Tl
L U.U./\MJ v gl ﬁ {’h.e.h Un(kq,c behveor. B al)e n
\Ifu"lﬂsr £ ‘éEM Voo .?"V
Ilonﬂ—élﬂ‘l! e wcmlﬂm — sl«'olM canbeck C E’G-.d‘\\lw e"”/ﬁ (o be vamed
va»‘oljm\ &\Fm&o}Chthmdth%lemkaw
.5\&.&10 of wire BC decrersen 3o UB’LB{; Ve, {lﬂw ond F ¢
L WIJM»(JA A fan (@kyf’kﬂmﬂ :\h«\l«\u;V,‘L tefve B e o Ober

0 U@,f INCAROALN |

, Q. No. 2 (iy)_, MAX. : TEANS
Statement “Maximum Dow& Wi U ba dxbl'wd to_load R
iF ik ?\uisl-mhuz L eqqu 1o Sewvice reriMance 37
pyg f ')F awaet T fleva 'ﬂwwan o od E Gjﬁbt’(’ wik uoHe-;,eV

_bf‘W‘, ‘-L“A%M hnove Fvon- PU\I-J of Njh pnkkl-.c} h oy pole,,_l-,cJ nd
lore pﬁ’le’wkd (?A\Lrw [W%@DMJM o paue) cluin«uu) L«,Ik\r—

yo iP : 1’p | ?J“—'_l

I e &;-R | ' ) :-;- %K
P . gxp | | 5
| (£-v)*4 Uy 3
So WLQJ" "L?E W 5{ PM'%‘ U nalrdhisom 4\/\.—0‘ Fm} n Mmoadha,
n ?'.L p %3.




[UDMRELTIOVAUM g

..5._l_a!._:;ﬁllﬁub'(;l:,gul/:.gz)fug.i/‘?,!ﬁbufrw 23009042

Q. No. 2 (v) WIRES WITH 0PPOSITE CURRENT
hiein hvo lemg  wiven that oae

&\mrm\qll«} 0o 'n%uw\lw Cwﬂﬁ KOs Al
cunent | then ~LLuf will TaPel eachohet, CD‘ 'C)'
As Fed b widdle U Somee 80 Huay il
TE.PQJ 2 oel pllen. U

gne{ - B;-Bg_
Q. No. 2 (vi) itd i CJALVAI_“_OMETGR

Debnitian:

* Balusrsranlsn 5 devles. Biak & used b

. ’J
detechon and mea surement of small currents.

Dala: [z SmA- Sx107° A [23= oo
V=200
T° Fl.nd: Rl,:?
g -
FB"“U ]d' Q!_ = lq g
Solvhon:

AS J

“




I o 3

The relevant question should be answered only in the allotted space and inside the ?uicr mark 230b9'042

Q. No. 2 (vii) '
S—lakmm “Py ele Cannct Aevole O c| hvdlun c»w,;
~——

Milre\w nbit. Dnl,..‘ bore OUbibh aus pngl.a o PuL.LJ\ Mqulm nanmcukm.

i ihkﬂ\ml hAUIl-\ple of L‘/am i L= mv#-hl"/a_r
Brove:  Necodng o clo-Rroglie A=_*L=_H_ —i}

\) MV ';

Nn eled’uy B Bolua eveylom ok s lp.duved o pml-.d.q It Ot .
l

| nAs aKy "éﬂ\
i &Mb &

‘Eqm}\h,ﬁ er]'ue\l\w {13 sd (1) h=3 .
' QKV
k/nn\f = | 7{@%\\
mur +_ "oy b (LK
9 e anon e ] /\anﬂ.l,



g S 1T T ™
= 07 * _E'._l_:l;:.r.il;Cc}if'(}s,{;.ul,;,l;:»ff..jf'gJﬁb’dlr:sw‘ [=1:

23000042

Q. No. 2 (ix) NO PO [ Tl

e —— e e
I & puve Caf&ci%w cannecked ks AC Sovree corvent lcadn

vclhzegc L}[ q0° eq phose Arflevice bobveon Gt od

Vo llexe 1 Q0° Le. Cf)=¢io°.

[4]
I\u*az\cxgp' powrer CifksprkteJJ % Yen éygz

P=VI cos ®

P= VI cos 90° (M cm@(fd)l
P= 0 B
This ?WV‘U tot Ow-o\m-ég povre- (L\Mp_iku’ Qe ea.rwhlf\zm,,
Lo it nlnfx\"poiu he powel.

| i

Os  tegebne fomen B egued b \QZ:/ J
N |

-----------------------------------------------------------------------------------------------------

Q. No. 2 (x) A5 \Wie 5t

-




NS

"% L II]

.
= o il sioull b sl ol e ll il s S sl i 2?0&)60 =
Q. No. 2 (xi) ’ L4 |
J
: |
[ i
...................................................................... +
Q. No. 2 (xii) $ Eéss N_¢
In Aeqion| behwezn 0 and A 30lid holoves Lhress 6
al olud body . Hooke's lows obeyed o d
bodyy #ecopn e«i?r,(w»' dmentiom s nleu l'oc.cg 0 Yield 2:”1“:: _YEJ‘;?‘U;
Mwlwxcdfi Forw vﬁ fo B, shem ond shat owe T il il
Kot ‘gp?mlamd but l,w'ldr )»aqqu WYT\OJ aiplonms /g D
Aler [ole ¥ foneoved . l’mr Bis elashe lwmid/ L/l
yield pon-Ll- an ) c,mmfchclnuf shesp 4 \jeld k-un_ i
(F loac) 0| eracaed Sku/l f\-wwd L(,L,m-\(lJ q.eic‘ \}\—o'/‘ owd shown doaw M\puﬂtv
tver 0 [l skaf& Ee»go‘vv-ei plmk’c:!y i Qm..|3+oé‘ Pc—n,J'(l‘s
vikhnealke [fonsile sheralh. IF sh—w FL-CA.BN»L@‘ Lrww'hm p:m—} hotenid)
olo Ferma chmmakﬂ?) ond diernt pgg <t onlgfch cj_,'M,MM Bren tulen sheem
S N A LEL Wel 2N Nckile S Jhel i

i ek e N 3L B AT



(LTI

- I;LJJIIZ.UL‘J'GJ,:J:I,; L/, .,,v:" P2 e Sl 23 0090 42

e =T

Q. No. 2 (xiii)

------------------------------------------------------------------

Q. No. 2 s L[EAng(STop A$ AMPLIFIFE
Rmbhfxca\hm B the powm ot {\.L\pﬂSlM shengfh of
S\qhal {curmvd volch pmu) wHhpot c.l\,...qa un mu‘qu\-al s|qha|
* o pert (oraneow W—?\aw»\l\'\w Vo C@ MW«*M
In Nowwsistor | enlben - ch Md«‘m A o wedd L:Med ond colleckor-
Uvutti/‘-'\l/hdﬂ\:‘v\ N sevese Liosed.  nhew cuastnk ik Buppin’\':ﬂl bo

——1g)
B tlon - L\Gwe Lu».r.h\m  fownond Elcu ﬂ«UuZM—ﬂ.—-g 80 bare curienbthherneses

! U
nﬂ'\w)v'w.}qq\,.lnﬁ

e =/3!
1 Se ax |y hereesen e Colleden cmmart Vo jhoreases ﬁHrMJ.
wu Lo ten Wt:-»a cuMent B Ww

-




P || W o

E The relevant question should be answered only in the allotted space and inside the puter mark
10 ‘ ” " ' 23009042
b ¥erd alows cwrrent h flow only Jumwom kalf of tpyt cyde
Conshuchon: Trnsbonen ouples sourco a,npul- \m“&fﬂ | o B ,ﬁh. "
aBlg=
‘l‘b }\ﬂch\M i e }Y‘-k_\tmw VOH-&U Con be " 3R
slegped [up e down owd it prevert Sl-\oc}\ hazed EL"&-—-- Ty
i Secollig on secher b clasty lewd b B[~y [~
doree | I oo only_one PN o ol —F e
o B
Vo |l(bu ™ kcw(}&-ﬂ-ﬁ Cl:Lt'wf_Lh A ond Q] IA V‘V Smwt "b . l
R | "
Dowing ponfhe hatf ﬂ ke, A b poihe wilk M/wecihs./\: l/\\
B),d.f@dﬂnpﬂﬂww l.’J\O\A.L(‘ Ou-\G’CL\M.UJﬁ ]Lw'uﬂ\’i A‘ —%
losd B, . Doy wegadne kIl R povhe wih h:Apzd'g .‘
L= U ) 4 v 1 |

4 A, divde b sevenned Lissed ond ko cowvent ’(quL R/,
bUY‘”'\-j lf\uirJW—e l-o.l(’ divele Z\WV\.JL)GRC} l'wqtmnu._}ﬂm—:mmry\f

0
o o UW‘“’f—j} tﬂmrp pnecs i ond o \nsllu\p a&!pﬂm amonn e,
Peelt Mrn-e \mﬂrﬂ-h,e L1 ptdflmov uoilc-a,z Stode bon (h vt shapd whan bevene Llese)

...................................................................... f
 RELATION BE v X and B

Q. No. 2 (xvi)_._|

=

As  oumplihcalon facte x(_.,le/!s |
oind  Cuonanl %04\1 B= l;{ | :

! ]
/ ]‘g:’r'ﬂg
B le | Intlﬂ"!{,L
ol
le 7.
B = /le
! le le
!'.';_AE
B= o




|VAVAT IR AR

_z_gg;);lgiulb’&,;.m.; Lo P iz 5

=725
23009042

Q. No. 2 (xvii) | UNLGiZTMNIY IN ENELEY
—M At =10 % ]
h= L.03 X100 Jg
o Ffind: A€-7?
Farmula: AE. At vh
éolqb‘ia': AE & h

: At

AE ¥ &b3x0 e
10-55

AE Y &-63x10°Y

Regult!

Uncaviamby on aeagy  dhdy » A" e “in/ L3 xio”’
! — !

-




LTI T - &

The relevant question should be answered only in the allotted space and inside the Pulcr mark d
23009042

Q. No. 2 (xviii) PASCHEN $ERIES | 2" LINE

Rota’ lp=3 |

n=5
ﬁ BinD! A="?
A N )
FQ‘NUM- * EL‘('(); i,.\l.l.)
SO TON: 1 = [rodrdxio’n ') [ L 1\
% ) L 3% 8%
L= 720373.33 m
A |
A= LXK M o 12814 nm

h&M—QJM—W)LL &'lﬁ Seciig e 6? E)Ou.id\.u Leafer
1281.4nm. |

|
|
\
i
|




T NN
= 13 : ~Z bk AL 53z, .,_;, s S ...’/’...linf-uLv [ETe

23009042

Q. No. 2 (xix) FUSION

“When  hyo light nuclel conbie h k.ﬂ_avy nud-e;.':'s',"‘ .

He proCatt h called &Sion.”

o ln Rs:‘on, e heed o Brercome adbbeees Aepu'tm Pavu.

behveotn  huo  nwcked b‘;ﬂ[ clomg ok, "

o fls )u,_nulw-e fnce [mqﬁ s&ln hlqk vdouk, pucd Wiee Kt

QUen 1A Mﬁu:\‘ec‘ by thdM/v\ud.eA

o [ qL Mou‘tw &nd kinelhe  enevqy  cov UY\-L-;I he ol,Fred
ot \ery [mﬁln Lmnbmlw-a /aLaul- Ioumll.m C.) o) A'
b cLT.Eu,lL t qq,L\.W Q,\M
H olcuvy V\“"WMH a_k 9(445 OVLJ m L,ecw-ﬁ\uv

Bl

-




g

2 [UNIAUACTROINMIIORM e
Y should be a d only in the allotted s and mside the/out ark El'=
14 A b Sy e i A 23009042
| b
Q. No. 2 (xx) __Eguahon: - i
qT -—-4an t B+v+&
=14 |
D“+a' 13‘1
Moy of Th = 234 oM36y
ot of “"Pa- 2340429 u
Moy &) °g= 06.8808Su -

&l_ula‘oh{

I

-t/

J

Masn of readonks & Mwma-f (k =234.0434y

M onn ei D«,orJu = Mawm of _ Pm + Moy @i_ﬂB
=5 234, D‘-il%u + OAG'G‘OS\YV
= 234.04335, |
Q- Man of veackinh — Mot of produch

2340436 u - 234.0433Cu

=2.8 xi10 'K u

Jd - 3L S M/

2.6 x1o ¥ Q31-€ Men

0.233 Mev

|
1

’M.

wy

D235 MoV e’ui Ut Sy

|

il




g S 11—
= 15 G _ngLu)'Féuﬁ"t}sﬁnlzf_Eu/(u:-;_f/’.,flﬁb’dlrﬂs" =

EL
23009042

Q.No.3 (Page 1/6) ___ Q) CHARGING AN (eHARGING CAPACITOR

Copg;ih,!

“D dote et Shnes electie Choagen.”

0

CHARG ING'

Suppre @ Ao beoncelllond copaviknee(c) are ummdul

e Senich hy a foaCELu-.i Pocaga k. liokyys o bk

ket \wf [ OPeon capqu'tm L UHQ,LMKIJ hese ne _“i IE
Ue ikl wwlnkws Dfif orait ive =0 D 4:0. _l‘:-—‘ :]_C
let h Wau‘ﬁn L@ﬂv\ o stew "—5

douge lfﬁwmmmequ

dﬁwqe On Ca.pa.u}?t ond (‘.UN{LJ' huoqu U\'ouul- v | e if con
Lﬁ&\ﬂam WGA dwcws ‘DVIAWB’F\CQJO-O%%-WMQJA
WL c,kﬂvrv. flen Lr OLM:WL-,; oud Mﬁha b.lnm’l‘ J‘-CL&M—* .
Cczpahl-o\ (,Lnrws up.

M%H.emd\cal Ay . o Y (1~ -WC) chosgoy T

At $=0 k- RC 0633,
9-9. l-e ™) 9:q,(l-¢ ") l/ .
P G (1= Q“f‘\a(l—el) f-2-11¢) t
=9, (1H) 179(1-390)

9=o

9= 06329,

mEL 6\”‘«{’1" Shenn tat Cﬂﬁaatb\ d@(w OIUI(J"LT it .
Lopalasd U onalh . ke l--—g ,9=9 ano) ot Cﬂ.rl-&'k e
CLﬂrqc agches hmawhun Valve,

P Ca,powv'm J—vw;,w Y3 ﬂ)g[,a_l-\“pd be hreain b(cd-M ereane ! wm\
ocdvel e L‘Rluw\ [m Lgfabﬁ-x b veach £33 of (A Aanien,

-




Fe |

I

|

I

[= 1'6 The relevant question should be answered only in the allotted space and inside th outer mark 23009042
Q. No. 3 (Page 2/6) SV roce.”
Max iniyn dnAlrﬂt » tapcufath X & F "p 54““«/
1 » .F‘
o\scunggmcar F}L__
‘ MNeovs gunpm an ﬂa OYC}H"‘ ; -._F:q &
T T

INwaadiw-l ch’b—w

badmd

Cﬂ»nmﬁn lnaﬁwx

(\9 (‘Jt&d--ﬂ-"r(ﬁ "

Concin kf’v

olnd-a rqu 'Hwaqu he&-ﬂ'ﬂm:e "

\

Fo t2RC  dhe f‘«Luwe o‘wex'wvm\o\l-&wn Mdmeﬂen,admﬂ.

duralism U odna e +aker. for Ca;pacllre\ ‘{‘l'cﬂlupym

e Valee ko 36:¢ '/-.h

MaHemaheal: o cl,amw 9=9.¢ “Ype |
At 4:0 {:2@ : |
~%/pc ) _K(VL i
';1"‘?::_@/ q'ﬂce [ |
q:q (eo) @l:Ciue:_(
= ]
q:=0-3689 "
.éll?-L“" 8o o Mo anoph ob E0 =9, \0-55&4
Ot e dogt L] | Dol
9"_ [)L | hao il veloe. -l:
' »
|
APPLICATIONS:

Ofwcﬂk-e g da‘)d—ekrywse 3 mmu% Iror

Mo G"-DDLCRJ"M Cklpaa"uv dISCLarqe mhl"\lm [CD\] Lo h;ptdf;

0
W-Lawo"fw '.cupn y o h—\{x\—w\ Ned

.‘

ICLA,.:\{\ Nrovena |

CJ\a{p.kO\»\r}r

GO s P gty




AU LT K

_é._lggu.m.ﬁuiﬁé,;./,u; Luli?, ez e Sl 2300 9 042

Q. No. 3 (Page 3/6) HQMPEQC"‘ LA
Stalement s '

“Iov o\hv cloved loop S oF lehqu elenenh
h\b“\plrEd Ly (,oh,nm# ab Vh&ﬁh—&)\( Rold farallel h eack elenent
is dﬁ'ecH., onpmls\n-aJ h Currehl- ontloned ’.w ’Dop/DGH,

SB8.oL =yl

Mag nt b Aeld dve b Cuimend “’@% Sole noid :

Solenold: “A ol mwewnd W c:pm:J(Ndm) L T
how cormet 0 passed  Qrrorgh Sulesoid f(‘&LQaJQAPM&-ka-ﬂ:
fad, e bod mv %kma-q D\‘N cowy 64 ggiw\c" GV-»J'M?A—L-U
ovtside. .
> e feld Whes coronrodng loosely
weund  Solensid Shen, flak L‘L@U Ok et
e Dy b povelled  psfspnl, dhbgled
oud) e:e}—u—’.d&%-‘-'dm Ln((’_D«U« alm.uf.
2 b a qunHv heownd salcw:'d Reld .
ey il and storg T Lotd e N/
Aove (o baa W ’v—eﬂ—'«w 50 Lenpd inuiine; QR RINN
Medaety b ol owd) soultpoles, I oot
A Lehgh 4 soleold Mw_um, Frold evhake
bty Beedln sl Woils Lo il il b A
= ldeel tolmuid o bvp_pma&-d—«_e‘ Whar—hamns
ol C./Lne_,L, >Twac_g,o5 om.ﬂlhl.mlfk P quea
A o T
%WDM Z,Mn pnd Daatde Y o form




Il

|
|
|
I
i

Il

JNTRRTR

i
0
El'ls * The relevans question should be answered unly in the allotied space and insidel the puter mark 2%‘065042
Q No.3(Pclge4IG) ,C_fif;k_m. | iy
Covnnlolers w\,.puddp pedr. abe J
Un cml.zu,\m’c) whene (18 i ond : l“-ri*.
B Subshihas ' | ¢
f\cwdﬂ‘é fo P\Mp.e/\_e‘s ;/ L
Bel-pl |
e Mie oo ﬁaw [9_»,(11. elopp e
Bl 481t &L, +8l1-—_u.,
bl n|§ *-'.%L:c,msL t 'Slswésj’:al,fcm@.‘,gw,'f
AB-00 B-9 8 -1 & -270°
el Bl sabtde  silierd B weal oot Bh o) eon bi Jabas,
2ens b0 fm |, B=0
Bl ces 0°+ Blzc.o-\%" +(e,)1%cosﬂ + F,flucmz‘lo‘:r,‘.[
BliosD  + 0 4 0 +0°MeT |
&1 =y.,f lﬂwl—ﬁil-elg
g - ip‘nl'
L
n N b B*IL Go Lo oot
B: N pol
L
F n | waben 8] howa per wnlt lebh (n=") Aer aq'wlam
be crnen
B- nlu,_.I
Direcko'rl of Reld- By mH hald) b‘vuta
Coexl | Cogens 5} riepht lord 1 didobar e{ gkl
pardd Uloeld Doy Dunl pdicater ol pab.




DM g 'l

bl E g sz Lo U 12

23009042
). No. 3 (Page 5/6) ¢] NumERicAL
PATA'  n= IScm P
p=lN, = 1§ = 1S = 1500 brws/m
L_ lem | %10 m '
A=dem> = 20 'm>
5T = £ =8 sh=fh =FR
M ‘;D'A‘S
lo T ; =2

i £ =

_ 0D - BRA
EF Al Al
3T FAN

SoLvTlomN

B=(ISo0) {\l{n KlDFTJﬁTm/-A)/Q\A)
B-3.7%107%T

£= BA - (371w0?) (2aig”)
bt O

¢= 7-Sqyio °V




OV~ = "

The relevant question should be answered only in the allotted space and inside the puter mark g
i 23009042

Space for diagram/rough work

Q. No. B (Page 6/6) 1 ,




bt LB Lt P S e S 23000042

A DL $,

Q. No. 4 (Page 1/6) &’ “'”EG'HI‘G

4

[ 4




Q. No. 4 (P:

LR O

The relevant question should be answered only in the allotted space and inside the outer mark

|

2300

.

9042

age 2/6)




Q. No. 4 (Page 3/6)

AV A R A

bl LBz g Lot 26 e st

23009042

|




Pae (AN I

24 i The relevant question should be answered only in the allotted space and inside the outer mark

%
(=7

23009042

1

Q. No. 4 (Page 4/6)




I e

it'
25

Q. No. 4 (Page 5/6)

AR TR R

2 bl L g dsgaty Lo P e izb i s

23009042

-




(UM g ki

The relevant question should be answered only in the allotted space and inside the outer mark 23006042
Space for diagram/rough work

Q. No.|4 (Page 6/6)




| o DAUIRATIIINNO e '
= 2 bbun L yBls sty s W etz - s Z?Obé() iy

27 |
Q. No. 5 (Page 1/6) o) PHOTobLECTRIC EFPECT |
P el \ “‘

“hthes, kot {al on  netal sorfece ) i+ emib elechmns |
Ty 19 clled Pbol'oeL:c,L:c efect ond elechans *enibted Mgkhelezhu?
Comibrychon: phe b
Uqu— 9{ Sui kb Lo f’r~c‘ivru.w [, (('
et QM,JH*«:,( o Q,:Q()D d{c et \l-—/h\kd-w -
Volbnge U opplied screws M-IHMVJ
Lo(lzctg'» wWhdr  Clisen  Jhebseleche trvat 1 - N e VWYY
e vred lu,, Sevatiiie Barmpmaien K. L
Y
Stpeiontlr Vollege b sljniied by ot
ahepshet  owd C@UebLeA 5 V\-'A-CL( ka.ehlk v

\,\;{h\ Nbpedd {4 QM,.H.Q,\ LS 5’M-5 Lo
G’iJZLL&.J elechgnn We vary V unhi
: (|
Covban  valie  lhed Slﬂu"pn"ﬁ Po(wh'al Vo when ALG-OL(L-& o

Drnmemeber da.q(h o 2ers,
A+ v (e £ Wry.u-w\g e\c?d-ca] Uechon  hves L-:-Lm )\chze,'wn,

wlledn « KQMM er\-; Br’f syt Mvc}*“ e/led—um L

k. C, =eV,
2=oiﬂ,ww-¢1-«—/j LLe_.—(S/_ Vi 'SL(J{?"\G Jokw‘\r‘bﬂ-
At Pakicsler Qeqvency of wb, Wl o) cliern’t dopod
o IM—CM:L,, ; ’ T) Ak T(pa) y .
brege beteon T ond V ok b dfous i
‘{\ll—bvml%‘w L shoren. /——_F IT
A Adenyi KN 5 {lawﬂ-»\—u!!, ‘p\'w‘rﬂfiecmc e
Camyent- :,\ubuw@? Lot &lm?prhx o v




Q. No. 5 (Page 2/6)

IEiEI1

H

(i

The relevant question should be answered only in the allotted space and inside the puter mark

23000042
vasle |-

Wy Assulk oo poate fo tlechrmerche doni

‘,?M,}A‘IJS s \mw b SWHO(LLGMW G’Suldn.\ elec W
W e i l?‘ff sﬁwld q};& Naos e gy tll Lo iEh
Mene paed ﬁ,%‘“"ifu e \-.wn_br outhled 5 il

Enpl/iii\rv\lh‘ 2

Nﬁ\f\l el V" OA~ O\‘-qwe»—ca?) um

oled o Ll o d Vg

Cbeded bt fowshs(d ﬁruz:u@»\cu bl oo cbme
cortetn Toaslbold  veneloghe Do) plobolinn ofeu
doopw't  OCeur

pu2zle

ey | ool mulw sn UqL}f 4, QJ?CNM‘—YNJLJI vene_ shool
ot dhechau fmw-qﬂ_n/\ t\;—u Ly R—*—Q 4 5, k. /
Jsoppledd vt cronl eorpy Vo) i LJ;M ~ //
Mvt/l-\ Uqu Seyv e 0. I." 4;1,.!;7
Evuf-c h | P

e poate B bolh evovaech i |

™ ) - u-e,\fm1 %ﬂﬂﬁk e dedoy |bk fi b protocledia,

N meu wan

tqqiﬁmrm ¢, LW*u) (v WP
| _

Plo hon @*

Evalen  veed p{aql“ Ww@ o a,umﬁhwm

A ene

C

L\Lmn)ﬂ.l-al"f"“ Mvwaf ﬂhwvxﬂw&

U
jod) ey

Y et (ml"’(\'wo\-)\['\[ c&«'\]m‘\):\,LQQ) oL—w quLQw_‘d- Lok

Foohd=

vy
CWCILLJ‘(M i Loc_alILLeJ :\bUanu/\ @éAVan-Iﬂ-

Eneryy

uy)LQLG"\ MOCAM ‘--(h« sl S—Q &-ca‘u%uyl: (n

"]

-~ L




r%% DAEOMTAVUMNAY e

29 bl Ll g ym g L T Sz 32 2300 9 02

Q. No. 5(Page3.-'6)‘ ind ﬂw h’“} o ﬂ'L'“‘%"_q_ th“‘ Rpatn’s

A o lecalned ek \t\* bl T e,«—w,\lall dﬂ%h, bo

%

%-{1;~§LL elechan  w nebal. Tere . o\cco\,},\ﬁ fo s,

hE =k o i) o,/

CD=wn,l:. b ehronn AT held

ki =0l D 1o,
Wlere L e bvckion , wdaleuns Ceangy Wt
gl iﬁi@l -reTT i

AT (_g]uru'n'\sv zwlm MW @r} l’.ﬁha‘m}vm{hlen—ﬁﬁs,,

Eﬂ"'(lﬂ“/b’\wp\ﬂmw W\AEFLLM%\VW\MW
D*ﬂohp,lﬂ—ﬁ«n\q ot lf€h% \" Ww

& oo wlo\ﬂw y;l,\m—w 9{ e sl G«ﬁpw\,\w
g o faarbld ' hagper oy B bax ot auih
Mi— e,b,a’h;;—u; boons WUM%NM&\AH-QJ . .
UAe e Qw\uq%? S Fsﬁ,“, ll‘é,w,’=0 s

o hi-®

©

(, = <O
(.- <P
h

©
v
BIF |10

-




The relevant question should be answered only in the allotted space and inside the outer mark g
‘ 23009042

T e M

Q. No. 5 (Page 4/6) ) Nv C-LEAQ Fusgow
|

|

D e(Ayai Wom

T Mgkt nuclel combire b
Pt heovry  hacdows, IHis called

I
| o clead C\Js‘lb"h .,‘

(o]
s
5 Y
-

Wkwk»o(wu Mdcuumsw

EEQiQH CYqE:
b0 dieeet  collnge le{ potonn v,

AUl ™ Ra,e-—»—w{ lA,uc_Lp.j balte b e }\.NM Colgele b ot

kel huedon |
pénctam | b Eray
He o= H BV (42) 542 M (1)
4 g - lHe Y (%2) §-49 Mev(n)
':;He-& li_l-\-o. ~— JHe + ‘H +H-h7 125§ Mev
B +p — 2Y (x2) 92 Mev (2)

Nel: 4H — The + 2 4 ;!g*Jf 214 7Y 2071 MeV
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